@ﬂ;fﬁ%ﬁ)‘ —h— ',j
= UJIEI Hiz

KlTAGAWAB‘V‘yﬁ

e S IRATHE!TS

scroll Chuck ==

MR O—IVF 4y 7 (EEE) sl smn I —

SC.s
/ U —X (E0re8H)
® ﬁEﬂ\G"f 7° S TUERISLTE ) E A,

1. ANEAMDPEGHBELTVEDT, BZICIEU
TANEZTERATRE,

2. 51V ELEEICEL GV A EEFE,
3. Fyy VARSI —NF A M EEKE (ERHAMIC

Bh.SELETOFERICRE, HEMALH
J ERA AR
i TR — P
l' ‘@——4; A=
; -~ ,( | el
IERRSS
f‘.
! e Ay | I
;3
& ] % I %
B & S| =
’ ]
+__
» &l
LS TTT ._._:— + | AE R FiE - SERA AT
e
e O - B mEmAmR
WL - Y (84 : mm)
Rzt HENY N -4 g | #8585
B alelclolelrl® lulylw|o My men e na |#585] pase
TEEE | @I | ATEmR EE | HiE kgtom | (kah) | kg m)| (ko) | “oom) | S B | W&
SC-3H SC-3 - 86|46 | 60 | 73 | 16 |4.1|3-M6 | M6X50 | 36 | 11 |15.8| 7 3.0 900 - 1.7 3500 | ¢2-470 | $24-464
SC-4H SC-4 = 1121 60 | 80 | 95 | 24 |4.8| 3-M8 | M8X70 | 42 | 14 |16.6| 8 45 1200 = 3.7 2500 | 43-495 | $29-484
SC-5H SC-5 - 132| 60 (100|115 32 |4.8|3-M8 | M8X70 | 50 | 16 [20.3| 8 6.5 1500 | 0.01 5.2 2500 | ¢3-4110{¢33-4100
SC-6H SC-6 — 167| 67 (130|147 | 45 |5.5(3-M10 | Mi0X70| 63 | 19 [23.7| 10| 9.0 3300 0.03 9.3 4000 | ¢4-4160 | 448-4150
SC-7H SC-7 - 192|76.5(155|172| 58 |5.5|3-M10| Mi0X80| 77 |21.5{29.4| 11| 11.0 3600 | 0.06 14.2 | 3500 | ¢4-$180|¢56-4170
SC-8H = = 200(76.5/160|176| 58 | 5.5 [3-M10 [ M{0X80 | 77 [21.5{29.4| 11 | 11.0 | 3600 | 0.07 16 3200 | ¢4-4190| $62-4180
SC-9H SC-9 - 232| 84 1190(210| 70 | 6 [3-M12[Mi2X90| 87 | 24 |35.6| 12| 15.0 3900 0.15 22.7 2900 | ¢5-4220| ¢62-4210
SC-10H SC-10 = 273| 89 1230|250 87 | 8 [3-M12[Mi2X%0|98 | 28 [39.5{ 12| 19.5 | 4800 | 0.25 31.8 | 2500 | ¢6-$260|470-$250
SC-12H ¥ SC-12 - 310| 96 [260(285(105| 7 |3-M12|Mi2Xi10/110| 30 |45.6| 14| 21.0 5100 | 0.58 44.8 | 2200 |410-$300| 486-$290
— — SC-16 % |405|122|345|375|160(8.7| — [M4X130{146| 42 [56.3| 15| 23.0 4500 1.75 102 1500 | $30-4380| 4110-4360

STERGETERARAREEERGAROMAN VTV E T, FERHEEOS S SHERFARKRVTWE LA, SR (SC-160H) DHERFABRMARENTVELA,
<427 0—)b (—HEL HETE) | 6MZ7O—)V (—FE) bH)ETOT, THH LIV,

HEMRRUNBRIR AROEOTFELERTIENBNET,

SREIDDVERKE AEPSOMYFEELNET, XAV TWEVRKXEENEERTT,





